
6

C

4

5

1

3
4

2
7

F

G

Montar el soporte superior KIT TOP (1) en zona (F),
mediante los distanciadores (2), los tornillos (3) y las
arandelas (4). Y en zona (G), mediante el distanciador
(5) la arandela (4), el tornillo (6) y la tuerca (7).
Montar la tapeta inferior (C).

Assemble the KIT TOP upper support (1) in zone (F),
with spacers (2), screws (3) and washers (4). And in
zone (G), with the spacer (5), washer (4), screw (6) and
nut (7). Assemble the bottom cap (C).

Monter le support supérieur KIT TOP (1) en zone (F),
avec les entretoises (2), les vis (3) et les rondelles (4).
Et en zone (G), avec l’entretoise (5) la rondelle (4), la
vis (6) et l’écrou (7). Monter le chapeau inférieur (C).

Die obere Haltung des KIT TOP (1) in Zone (F) mit
Hilfe der Distanzrohre (2), der Schrauben (3) und der
Scheiben (4)montieren. Und in der Zone (G), mit Hilfe
des Distanzrohr (5) der Scheibe (4), der Schraube (6)
und der Mutter (7). Unteren Deckel aufmontieren (C).

Montare il supporto superiore KIT TOP (1) nella zona
(F), usando i separatori (2), le viti (3) e le guarnizioni
(4). E nella zona (G), usando il separatore (5) la
guarnizione (4), la vite (6) ed il dado (7).
Montare il coperchio inferiore (C).

SY
M

 G
TS

 1
25

/2
50

 ‘0
5

K
IT

 T
O

PM
AS

TE
R

   
S0

G
T2

5S
T

C

A
B1.

Abrir el asiento (A). Desmontar del transportin la tapa
superior embellecedora (B) que se desestima y la
tapeta inferior (C).

Open the seat (A). Dismantle the embellishment
upper cap from the folding seat (B), which is
discarded, and the lower cap (C).

Ouvrir le siège (A). Démonter du siège escamotable le
couvercle supérieur enjoliveur (B) qui est rejeté et le
chapeau inférieur (C).

Sitz öffnen (A). Zierdeckel des Klappsitzes
abmontieren (B) und weglegen, und den Unteren
Deckel (C) abmontieren.

Aprire il sellino (A). Smontare il coperchio superiore
decorativo del sellino passeggero (B) che si elimina ed
il coperchio inferiore (C).

Desmontar y desestimar los tornillos (D), en zona (F).

Dismantle and discard the screws (D), in zone (F).

Démonter et rejeter les vis (D), en zone (F).

Schrauben (D) in Zone (F) abmontieren und weglegen.

Smontare ed eliminare le viti (D), nella zona (F).

3.

Consejo para un correcto montaje del kit: No apretar los tornillos del todo hasta asegurarse que el KIT está correctamente colocado y alineado.

Advice for correct fitting of the kit: Do not fully tighten the screws until it is ensured that the KIT is correctly attached and aligned. 

Conseil pour un montage correct du kit: Ne pas serrer les vis avant d’être sûr que le KIT est correctement monté et ajusté.

Hinweis für einen korrekten Einbau des Bausatzes: Ziehen Sie die Schrauben nicht ganz fest, bevor Sie sich nicht vergewissert haben,
daß der Bausatz korrekt eingestellt und ausgerichtet ist.

Consiglio per un montaggio corretto del kit: Non stringere del tutto le viti fin tanto non si è sicuri che il kit è collocato correttamente e allineato.

D

F
2.



Cerrar el asiento (A).

Close the seat (A).

Fermer le siège (A).

Sitz schliesen (A).

Chiudere il sellino (A).

Posicionar el soporte inferior KIT TOP (8) al
transportin mediante las arandelas (9) y los tornillos
(10), lo unimos al soporte superior KIT TOP (1)
mediante los tornillos (11), las arandelas (12) y las
tuercas (13). 

Place the lower KIT TOP support (8) to the folding seat
with washers (9) and screws (10), join it to the upper
KIT TOP support (1) with screws (11), washers (12)
and nuts (13). 

Placer le support inférieur KIT TOP (8) au siège
escamotable avec les rondelles (9) et les vis (10),
fixer-le au support supérieur KIT TOP (1) avec les vis
(11), les rondelles (12) et les écrous (13). 

Untere Halterung (8) auf den Klappsitz mit den
Scheiben (9) und den schrauben (10) positionieren, mit
der oberen halterung des KIT TOP (1) mittels der
Schrauben (11), Scheiben (12) und muttern (13)
befestigen. 

Mettere in posizione il supporto inferiore KIP TOP (8)
al sellino passeggero usando le guarnizioni (9) e le viti
(10), ed unirlo al supporto superiore KIT TOP (1)
usando le viti (11), le guarnizioni (12) ed i dadi (13).

SY
M

 G
TS

 1
25

/2
50

 ‘0
5

K
IT

 T
O

PM
AS

TE
R

   
   

   
   

   
   

 S
0G

T2
5S

T

REF. 500479
Edición 2ª

8

111

12
13

9
10

4.

A5.

Pos. Ref. Cant.

1 260869 1 Soporte superior KIT TOP - Upper KIT TOP Support - Support supérieur kit top - Uobere halterung KIT TOP
Supporto superiore KIT TOP

2 260747 2 Distanciador Ø20 Ø9 x 13 - Spacer - Entre-toise - Abstandshalter - Distanziatore  

3 304053 2 Tornillo M8 x 30  DIN 7380 - Screw - Vis - Schraube - Vite 

4 303020 3 Arandela Ø8 DIN 125 - Washer - Rondelle - Scheibe - Rondella

5 260712 1 Distanciador Ø20 Ø11 x 22 - Spacer - Entre-toise - Abstandshalter - Distanziatore  

6 304032 1 Tornillo M8 x 50 din 7991 - Screw - Vis - Schraube - Vite 

7 302024 1 Tuerca M8 autoblocante - Self-blocking Nut M8 - Écrou M8 autobloquant - Selbstanziehende Mutter M8 
Bullone M8 autobloccante

8 260872 1 Soporte inferior KIT TOP - Lower KIT TOP Support - Support inférieur KIT TOP - Untere halterung KIT TOP
Supporto inferiore KIT TOP

9 303017 2 Arandela especial Ø18XØ6 -  Special washer - Rondelle spéciale – Sonderscheibe - Guarnizione speciale

10 304012 2 Tornillo M6X16 DIN 912 - Screw - Vis - Schraube - Vite 

11 304091 2 Tornillo M6X20 DIN 7991 - Screw - Vis - Schraube - Vite 

12 303000 2 Arandela Ø6 DIN 125 - Washer - Rondelle - Scheibe - Rondella

13 302021 2 Tuerca M6 autoblocante - Self-blocking Nut M6 - Écrou M6 autobloquant - Selbstanziehende Mutter M6 
Bullone M6 autobloccante

COMPONENTES / PARTS / COMPOSANTES / EINZELBAUTEILE / COMPONENTI:



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /All
  /Binding /Left
  /CalGrayProfile (Dot Gain 20%)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Error
  /CompatibilityLevel 1.7
  /CompressObjects /Tags
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.0000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails false
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams false
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Apply
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile (None)
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 300
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages true
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth -1
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /DCTEncode
  /AutoFilterColorImages true
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /ColorImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 300
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages true
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth -1
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /DCTEncode
  /AutoFilterGrayImages true
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /GrayImageDict <<
    /QFactor 0.15
    /HSamples [1 1 1 1] /VSamples [1 1 1 1]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 30
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages true
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /CreateJDFFile false
  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000500044004600206587686353ef901a8fc7684c976262535370673a548c002000700072006f006f00660065007200208fdb884c9ad88d2891cf62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef653ef5728684c9762537088686a5f548c002000700072006f006f00660065007200204e0a73725f979ad854c18cea7684521753706548679c300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /FRA <>
    /ITA <>
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020b370c2a4d06cd0d10020d504b9b0d1300020bc0f0020ad50c815ae30c5d0c11c0020ace0d488c9c8b85c0020c778c1c4d560002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken voor kwaliteitsafdrukken op desktopprinters en proofers. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents for quality printing on desktop printers and proofers.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
    /ESP <>
  >>
  /Namespace [
    (Adobe)
    (Common)
    (1.0)
  ]
  /OtherNamespaces [
    <<
      /AsReaderSpreads false
      /CropImagesToFrames true
      /ErrorControl /WarnAndContinue
      /FlattenerIgnoreSpreadOverrides false
      /IncludeGuidesGrids false
      /IncludeNonPrinting false
      /IncludeSlug false
      /Namespace [
        (Adobe)
        (InDesign)
        (4.0)
      ]
      /OmitPlacedBitmaps false
      /OmitPlacedEPS false
      /OmitPlacedPDF false
      /SimulateOverprint /Legacy
    >>
    <<
      /AddBleedMarks false
      /AddColorBars false
      /AddCropMarks false
      /AddPageInfo false
      /AddRegMarks false
      /ConvertColors /NoConversion
      /DestinationProfileName ()
      /DestinationProfileSelector /NA
      /Downsample16BitImages true
      /FlattenerPreset <<
        /PresetSelector /MediumResolution
      >>
      /FormElements false
      /GenerateStructure true
      /IncludeBookmarks false
      /IncludeHyperlinks false
      /IncludeInteractive false
      /IncludeLayers false
      /IncludeProfiles true
      /MultimediaHandling /UseObjectSettings
      /Namespace [
        (Adobe)
        (CreativeSuite)
        (2.0)
      ]
      /PDFXOutputIntentProfileSelector /NA
      /PreserveEditing true
      /UntaggedCMYKHandling /LeaveUntagged
      /UntaggedRGBHandling /LeaveUntagged
      /UseDocumentBleed false
    >>
  ]
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [595.276 841.890]
>> setpagedevice


